
 
MEGA-FLO | Filtration System  

 
 
 

 
 

Product Bulletin: F-304 

Operation and Service Guide: O-0585 

NO. DESCRIPTION QTY CPVC PVC PP 

1 MEGA-FLOW 20" 1 78-1972-C 78-1972-P 78-1742-PP 
 Chamber Assembly 30"   78-1973-C 78-1973-P 78-1743-PP 
  40"   78-1974-C 78-1974-P 78-1744-PP 
  50"   78-1975-C 78-1975-P 78-1745-PP 
  Parts list  P-7776 P-7781 
2 Screw  10-24x.75" SS 4  11-0623  

3 Motor Starter 1 Bulletin A-103 

4 Motor Starter Bracket  SS 1  66-7036  

5 O-Ring   EPDM 2  22-0359  
   FKM   22-0359-V  

6 Pump to Chamber HE 1 88-7634 88-7634-PP 
 Adapter F2x2  88-7634 88-7634-PP 
  HF 1 88-7634-1 88-7634-1PP 

7 Bolt  5/8-11x3.5" SS 4  11-0115  

8 Flat Washer  5/8" SS 8  11-0132  
9 Flange Gasket   2" EPDM 1  22-0239  
   FKM   22-0255  

10 Outlet 2" Flange HE  1 33-3081 33-3081-PP 
 Pump Adapter F2x2  33-0844 33-0844-PP 
  HF  33-0844 33-0844-PP 

11 Lock Washer  5/8" SS 4  11-0381  

12 Hex Nut 5/8-11 SS 8  11-0339  
13 Pump Assembly HE 1 Parts list P-7200 
    F2x2  Parts list P-4075 
  HF  Parts list P-8785 

14 Flat Washer  3/8" SS 4  11-0126  

15 Bolt  3/8-16 SS 4  11-0444  

16 Inlet Flange 3" HE  1 33-2126 33-2126-PP 
 Pump Adapter F2x2  33-2126 33-2126-PP 
  HF  33-2127 33-2127-PP 
      
      
      

 

PARTS LIST 

P-7775_A 
09/14/12 
Page 1 of 1 
 

2900 MacArthur Blvd.   Northbrook, IL. USA 60062   WWW.SERFILCO.COM   (800) 323-5431  

® 

/products_list.aspx?pc=335
/pdfs/bulletins/F-304.pdf
/pdfs/liturature/O-0585.pdf
/pdfs/liturature/P-7776.pdf
/pdfs/liturature/P-7781.pdf
/pdfs/bulletins/A-103.pdf
/pdfs/liturature/P-7200.pdf
/pdfs/liturature/P-4075.pdf
/pdfs/liturature/P-8785.pdf
http://www.serfilco.com/
/contactus.aspx
http://www.serfilco.com/

